
Calendar Answers

1. 421,815
2. Leave one quarter of the circle 

unshaded
8304 3. 
A net is made up of 2D shapes 
and when it is folded together it 
forms a 3D shape. 

4. 

5. 672,928 and 472,928

6 / 7 . 18, 230

8 . Minute hand (long) pointing to 5.
Hour hand (short) pointing 
between 9 and 10, slightly 
closer to 9.

9 . Thermometer

10 . 7.2743 and 3.3018

11 . 8

18. 38,417

19 . 18,190

20 . -3 and -6

21/ 22 . £3.50

23. 171,800 and 38

24. 00:00

25. For example: A cube. A 3D shape 
has 3 dimensions whereas a 2D 
shape has 2 dimensions and is 
flat, such as a square. 

26 . For example: 1/2 = 2/4 = 3/6

13 . 84, 88, 54

14. 2.4 and 2.7

12. 2

29. 6792

30. Seventy thousand (70, 000)

28. 1/4, 1/3, 2/5, 1/2

27. 36 and 64

15 . 0.089

16. 137,056

17. Draw a shape, for example a square, divide 
into 5 parts and shade in 2 parts, leaving 3 unshaded. 


